Second Level « PPM ll4a - FDP2.17b J Name

+ and - hundredths

Glenearn School is planning a trip. The school uses a
Credit Union to manage the money needed for the trip.

The Credit Union keeps the payments paid in, and the
school takes money out when needed.

Fill in the table to show the running balance as money is

paid in and taken out of the account.

Transaction Paid in + |Paid out - Running
balance

Opening balance £894-23

Kate £24:25 - £918-48

Sam £56-30 -

Sealife Centre - £315-00

Paul f19-8l -

Bus deposit - £500-00

Sid £42-50 -

Aria £26°:45 -

Parent Council £400-00 -

Hotel deposit - £340-90

John £20-75

The Leisure Centre needs a £350 payment. There is
currently not enough money in the account to pay this.

How much more needs to be added to the account so
that the payment to the Leisure Centre can be made?
Show how you worked this out in the space below.

I can do additions and subtractions involving numbers with two

decimal places

Fractions, decimals and percentages: Applying and using
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